
Subject: Multiple Processing
Posted by Kai Heckel on Mon, 08 Jun 2015 08:18:03 GMT
View Forum Message <> Reply to Message

Hallo everyone!

I am currently trying to process a time series on a server. I have three scrtips which are interacting
during the processing. I'd like to do it yearwise (year by year). If I process the years one by one
there is no problem but if I start multiple processes there is....

Imagine it like this:

1) 1 process (IDL window) -> one year

--> WORKS!

2) 4 processes (4 IDL windows) -> 4 years (separately; one per window)

--> DOESN'T WORK!

The problem always occurs after 30 min or so....I don't see what the problem is. Maybe something
wrong with the LUN's?

Thanks!
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